"1 Autodesk [ [1 ][] [J[][]

"1 Autodesk [ [ [J ][] [][]

/ X=5162284. 301

Y:4492?2i%8§i:>

7 O
()
o)
o =
&

£5162048. 002
Y=449493. 119

\\/ N
o
Q 20 40 80 120 R EE
5 5
JH H98 B
<5162317. 303 _ .
i B e o et
” NS — VA
O AR5 10, O0hmE— /A e 4% 5
e B
Mok dm B 4 br — W &
o e 5 AL 2019-C08
il o M2
4 3 | A M AR B 10. 00
%Egﬁa% 0.7-1.5
BEC MR E (%) > 30
e EHRE W <35
g HoE %) <20%
FHAD N, W
LB BARAE G M £ 5 AR 2% F MR v )
(GB50137-2011) %4>~
2.M2H = 3 Tk A b
B OLAEANTGEINREALHE, LEHREAY
0 KEEWEK.
4. F K BAT N K.
5. B AR AT E R A 20004847 % .

2019-COSH

4

Hh Sl A TR A R

L0 0o EEEysopoiny [

(OO O O O sepoiny [



